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Read the following paragraph, then answer the questions.

Stars are nature’s fusion reactors. They shine by converting
hydrogen nuclei into helium. Within stars, heavier elements are
gradually built up in steps by fusion cookery, just like following a
recipe. Larger and larger nuclei are constructed through a succession
of “burning” first hydrogen, then helium, then other elements lighter
than iron and, eventually elements heavier than iron. Stars like the
Sun shine because they are mostly fusing hydrogen into helium and
this proceeds slowly enough that heavy elements are made in only
small quantities. In bigger stars, this reaction is sped up by the
involvement of the elements carbon, nitrogen and oxygen in further
reactions. Therefore, more heavy elements are made more quickly.
Once helium is present, carbon can be made from it. Once some
carbon is made, it can combine with helium to make oxygen, neon
and magnesium. These slow transformations take most of the life of
the star. Elements heavier than iron are made in slightly different
reactions, gradually building sequences of nuclei right up the

periodic table.

1. The best title for this paragraph is ................. .
1) The Hydrogen Nuclei 2) The Larger Nuclei
3) The Stardust 4) The Sun

2. The verb “constructed” can be best replaced by .................... .

1) destroyed 2) built 3) melted 4) explode

3. In the paragraph, the word that means slowly and in small stages

1) slightly 2) mostly 3) gradually 4) eventually
4. The pronoun “it” refers to ... .
1) carbon 2) helium 3) oxygen 4) neon

5. According to the paragraph, the writer compares steps for
creating elements within stars with ................ .
1) following a recipe 2) fusing hydrogen

3) burning hydrogen 4) building nuclei

6. The paragraph could probably be found in the section.

2) History

1) Geography 3) Science 4) Horoscope

7. According to the paragraph, which statement is NOT TRUE?
1) Carbon can be made from helium.
2) The sun shines because it is fusing hydrogen into helium.
3) Elements heavier than iron are made in similar fusion reactions.
4) Heavier elements within the stars are gradually created in

steps by fusion reactors.

8. Which elements are NOT mentioned in this paragraph?
1) oxygen and carbon 2) iron and neon

3) nitrogen and hydrogen 4) sodium and calcium
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